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1. (5 Pts) The compound that is responsible for the characteristic smell in garlic is allicin. Its chemical composition by ﬁ—{ass is:
444%C; 621% H; 39.5% S; and 9.86% O

‘ a. (4 Pts) Determine the empirical formula for allicin. (SHOW ALL WORK) LM&) CG :HZD §5.0

b. (1Pt) The molar mass of allicin is 162 g/mol.
What is its molecular formula? (SHOW ALL WORK)

(th)(swme S Emmirical Sime taolar mcce = € Mmpiriey( mALL
Z{ax}vhat mass of ZnCly can be ared from the reactlon of 3.27 grams of zinc with 3? 30
grams of HCI? Coha’ it e o, ;g;eéai P Sg toere eceutmed

Zn + 2HCL = ZnCl, + Hj

g;z)_,ﬂr_lv 6. 17
3. Calculate the molarity of a solution that -contains 70 0 g of H9804 in 280 mL of
solution. :

AnE AETEM

4. What mass of CaCl, must be dissolved in enough water to produce 2000 mL of 1.25 M

N CaCly?
Ang X779

Rt
5. How many mL of 18.4 M H;SO4 are needed to prepare 600 mL of 0.10 M HpS5047?

ANS 33 L

6. What volume of 0.130 M HCl solution will just react with 0.424 gram of Ba{OH)2?

2HC1 + Ba(OH)2 = BaClgy + 2H,0

.AM. 3.8’_,1me



